
������� �	��
 ��
�������
 ������������

 "!$#&%('$)+*-, %.'0/1*2, %('435*	6 798;:-<>=@?BADC EF=-GIH EKJL<NM+OP8;OQEFRSRUT1<WV2XYRSO[Z;\U]^<�_
 1!�#`%('�) a / a 35*b6 7c8;:-<>=.?dAeC EF=-GfH E�JL<�M�Og8;OhE�RSRUT.<iV2XYRSO[Z;\U]^<j_
������� �	��
 k
l Rm<n]^<Y=@Xo:QEF\mJpZqE�JL<r=sO-M�tu<vJL<vGw798;:2JyxzO[{j:|7�7�_D}~<n]^<Y=�tux�TgZ�EF=-GIEF=-G�#�x�O2J�{�\mJpRSZ

Zy\U8Nxz=18o:2<YZ;<�Xo:QEF\mJpZ�E�8rJoE�=2G2x�Mf_�� :QE�8r\SZ�8;:-<��2JyxzthE�t[\SRS\U8�TI8;:hE�8rXo:QEF\mJ9=sO2M+tu<vJ
� \SZNx~XvX>O2�[\m<vG.tjTfE�tux�T��
������� �	��
 �
� x�J�E(��<vM"x~XvJoE�8;\mX5X�EF=2G[\mGhE�8o<d8ox1�c\S= EF=�<YRm<vXW8;\mx�= Zy:-<5M�O2Zp8���\S=�G[\SZp8oJL\mXW8;Z

!;A�!L!cEF=2G !L!y!;_���xzRSRSZ�:hEY]^<5Zy:-x���=w8;:QE�8�8;:2<5�-JLxztQEFt2\SRS\U8�T xK#	��\S=2=2\S=[{w!cEF=2G !y!L!
\SZ��2_ ��� A2RmxzZ;\S=[{�!y!�t2OP8���\S=2=2\S=[{�!b\SZ��2_��z IEF=-GfRmxzZy\S=2{.!L!9EF=-G�!L!	t[Og8���\S=[=2\S=2{�!
\SZc�-_m7 � _�?�XvXvx�JLG[\S=[{"8oxd8;:-<���xzRSR���:QE�8N\SZr8o:2<��2JyxzthE�t[\SRS\U8�T(8;:QE�8NZy:-<���\S=[Z�\S=wEFRSR
8;:-JL<v<��
������� �	��
 ¡
}P<W]s<>=(M�<>=18;:-JLx�� 8;:-<Y\mJ¢:QE�8;Z�\S=@8;:-<�M�\mG2GgRm<�xK#£8;:-<�JLx~x�M¤_�!$#�<�E�Xo:¥�2\mXi¦sZ�E�8

JoEF=-G2x�M xz=-<�:QE�8�#�Jyx�M 8;:-<�Zp8nEKXo¦5��:hE�8�\SZ§8;:-<��2JLx�thEFt2\SRS\U8�T@8;:QE�89=2xz=-<�xK#£8o:2<vM
{j<n8;Zr:2\SZNx���=(:hE�8>�
������� �	��
 ¨
C	\SRSR£E�=2G¥©zx�:[=1¦�<Y<Y�1�[RªEYTg\S=[{BX;:-<YZyZbO2=«8;\SRuxz=-<Nxz#u8o:2<vM ��\S=2Z	8��rx�{sE�M"<YZb\S=(E

JLx�� x�J�8;:-JL<v<�{~E�M"<YZ�EFRU8ox�{j<W8o:2<vJ�_9!�=(��:QE�8���<YJLXv<Y=j8�xK#�EFRSR���xzZyZ;\St[Rm<�X�EFZo<>ZNG2x~<YZ
8;:-<�{sEKM"<�<Y=2G(tu<vX�EFO2Z;<�C	\SRSR���\S=[Zr8;:2Jy<Y<�{sE�M"<YZ9t[Og8N=2xd8��9xB\S=¤E+JLx��+_


